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Homework

This tabie shows the relationship between the approximate population of ten states and the number of
representatives the state has in the House of Representatives.

A
State Population and Part A: Make a scatter plot forthe data on the coordinate plane below.
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Part B: Find the equahon for the line of best fit,(Round to the nearest hundr'ed'rh)/
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Part C: Draw your line of best fit,

Part D: Use your equation to find the number of@presenm_’rivves for a state that has a population of
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Part E: When you found the number of representatives for a state that has a popu!a‘rlon of 11 mI"IO in
part D, were you inferpolating or emepolcﬂ'mg‘? ~ ;
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